Office Supply, OEM Toners and Copy Paper RFP #17-615-002 Evaluation: Category 1 - Office Supplies

| | | | (A) Office Depot/OfficeMax Sacramento. CA | ot/OfficeMax | (C) Burketts Sacramento CA | etts P CA | (D) Sierra Office Supplies | ce Supplies | (E) Staples | ples to CA |
|--------|---|----------|--|--------------|-------------------------------|--------------|----------------------------|-------------|-------------|---------------|
| Item : | Item # Description | Est. Qty | Bid Price | Extension | Bid Price | Extension | Bid Price | Extension | Bid Price | Extension |
| + | Batterles - AA Size - 4 Per Pack | 20 | 3.20 | 64.00 | 2.90 | 58.00 | 2.76 | 55.20 | 1.46 | 29.20 |
| 5 | Batteries - AA Size - 36 Per Pack | 145 | 21.59 | 3,130.55 | 3.50 | 507.50 | 16.42 | 2,380.90 | 20.19 | 2,927.55 |
| e | Batteries - AAA Size -16 Per Pack | 85 | 12.78 | 1,086.30 | 9.75 | 828.75 | 9.15 | 777.75 | 10.61 | 901.85 |
| 4 | Batteries - AAA Size - 12 Per Pack | 35 | 9.02 | 315.70 | 7.50 | 262.50 | 7.61 | 266.35 | 8.43 | 295.05 |
| 2 | Batteries - Industrial 9V size - 12 Per Box | 30 | 14.29 | 428.70 | 3.00 | 90.00 | 13.85 | 415.50 | 16.45 | 493.50 |
| 9 | Ring Binder- view Binder Style - 1* Capacity - Round ring - White | 380 | 1.41 | 535.80 | 1.35 | 513.00 | 1.05 | 399.00 | 2.54 | 965.20 |
| 7 | | 215 | 1.41 | 303.15 | 1.35 | 290.25 | 1.05 | 225.75 | 2.93 | 629.95 |
| 8 | kung bunder - view bunder Silvie - 1 1/2" Capacity - Kound King - While | 95 | 1.67 | 158.65 | 2.10 | 199.50 | 1.05 | 99.75 | 3.46 | 328.70 |
| 5 | Ring Binder - View Binder Style - 2* Capacity - Round Ring - White | 25 | 2.57 | 64.25 | 2.30 | 57.50 | 2.12 | 53.00 | 4.16 | 104.00 |
| 9 | Ring Binder - View Binder Style - 3" Capacity - White | 110 | 2.79 | 306.90 | 3.20 | 352.00 | 3.11 | 342.10 | 6.07 | 667.70 |
| = | Ring Binder - View Binder Style - 4" Capacity - White | 30 | 3.46 | 103.80 | 4.75 | 142.50 | 4.22 | 126.60 | 10.37 | 311.10 |
| 12 | Ring Binder - Economy - View Style - 1/2" - White (NEW ITEM) | 100 | 1.30 | 130.00 | 1.40 | 140.00 | 1.27 | 127.00 | 2.93 | 293.00 |
| 13 | Index Tab Inserts for Ring Binder - 5 Tab Set - Clear | 190 | 0.48 | 91.20 | 6.35 | 1,206.50 | 0.45 | 85.50 | 0.54 | 102.60 |
| 14 | Index Tab Inserts for Ring Binder - 5 Tab Set - Colored | 40 | 0:50 | 20.00 | 6.35 | 254.00 | 0.45 | 18.00 | 0.54 | 21.60 |
| 15 | Index Tab Inserts for Ring Binder - 8 Tab Set - Clear | 215 | 0.66 | 141.90 | 10.45 | 2,246.75 | 0.68 | 146.20 | 0.82 | 176.30 |
| 16 | | 20 | 0.92 | 18.40 | 10.45 | 209.00 | 0.68 | 13.60 | 0.82 | 16.40 |
| 17 | Calendar Waii - Yeariy - 12 x z/ 3 Montris Reference Waii Calendar | 190 | 2.73 | 518.70 | B.50 | 1,615.00 | 6.87 | 1,305.30 | 7.82 | 1,485.80 |

Office Supply, OEM Toners and Copy Paper RFP #17-615-002 Evaluation: Category I - Office Supplies

| | | | (A) Office Depot/OfficeMax Sacramento. CA | ot/OfficeMax ito. CA | (C) Burketts Sacramento. CA | etts o. CA | (D) Sierra Office Supplies Sacramento. CA | ce Supplies tto, CA | (E) Staples Sacramento, CA | ples tto, CA |
|---------|---|----------|--|-------------------------|--------------------------------|---------------|--|------------------------|-------------------------------|-----------------|
| ttern # | # Description | Est. Oty | Bid Price | Extension | Bid Price | Extension | Bid Price | Extension | Bid Price | Extension |
| 18 | Calendar - Professional Planner - Monthly - 9" x 11" - Black - Like Mead 70260 | 130 | 18.84 | 2,449.20 | 9.50 | 1,235.00 | 8.46 | 1,099.80 | 10.44 | 1,357.20 |
| 19 | | 50 | 8.26 | 413.00 | 7.25 | 362.50 | 6.35 | 317.50 | 7.90 | 395.00 |
| 20 | Compact Disc - 700mb/80 Minute, 48 speed, Spindle, Sliver, 100 per pack | 60 | 14.22 | 853.20 | 18.50 | 1,110.00 | 13.71 | 822.60 | 20.94 | 1,256.40 |
| 21 | Correction Tape with Disperser - 1 line, 0.17* width, 394* length - 2 Per Pack | 25 | 1.54 | 38.50 | 2.15 | 53.75 | 2.00 | 50.00 | 1.54 | 38.50 |
| 22 | Calendar, Desk Pad, Monthly, 22 x 17, BLK | 155 | 1.47 | 227.85 | 3.25 | 503.75 | 2.42 | 375.10 | 3.18 | 492.90 |
| 23 | Envelope - Manila/Kraft 28lb with clasp - 9" x 12" - 100 per box | 75 | 7.40 | 555.00 | 1.75 | 581.25 | 6.35 | 476.25 | 8.22 | 616.50 |
| 24 | Envelope - Manila/Kraft 28ib with clasp - 10" x 13" - 100 per box | 30 | 8.92 | 267.60 | 9.50 | 285.00 | 8.78 | 263.40 | 12.64 | 379.20 |
| 25 | Envelope - #10 Window - Self Sealing - White - 500 per box | 10 | 21.31 | 213.10 | 19.75 | 197.50 | 23.29 | 232.90 | 17.54 | 175.40 |
| 26 | Envelope - Manila/Kraft 28ib - 10" x 13" - Self Sealing - 100 per box | 50 | 13.12 | 656.00 | 11.50 | 575.00 | 11.62 | 581.00 | 12.45 | 622.50 |
| 27 | Envelope - Manita/Kraft 28tb - 9" x 12" - Self Sealing - 100 per box | 75 | 11.57 | 867.75 | 9.75 | 731.25 | 9.41 | 705.75 | 10.40 | 780.00 |
| 28 | File Box - Letter/Legal - 12 ½* x 16 ¼* x 10 ¼* - Includes Lid - 12 per case | 100 | 16.01 | 1,601.00 | 24.25 | 2,425.00 | 15.87 | 1,587.00 | 10.43 | 1,043.00 |
| 29 | | 234 | 13.63 | 3,189.42 | 6.00 | 1,404.00 | 4.99 | 1,167.66 | 6.98 | 1,633.32 |
| 30 | | 20 | 13.76 | 275.20 | 9.25 | 185.00 | 7.13 | 142.60 | 10.33 | 206.60 |
| 31 | File Folder - Classification - 25pt Pressboard - End Tab with 1 Divider, 2" Expansion, Straight Cut Tab - Letter Sized - 10 per box | ŝ | 23.16 | 115.80 | 27.50 | 137.50 | 24.13 | 120.65 | 19.10 | 95.50 |
| 33 | File Folder - Hanging - 1/5th Cut Tabs- Letter Sized - 25 per box | 35 | 5.12 | 179.20 | 5.95 | 208.25 | 3.97 | 138.95 | 9.29 | 325.15 |
| 33 | File Folder - Hanging - 1/5th Cut Tabs- Legal Sized - 25 per box | 20 | 6.54 | 130.80 | 8.00 | 160.00 | 5.91 | 118.20 | 13.18 | 263.60 |
| 34 | File Folder Manilla End Tab, Full Cut - 2" Capacity Fastener front and back - 2 dividers w/ 1" Cap fasteners - six section Letter size, 10 per box (NEW ITEM) | 23 | 27.77 | 1,388.50 | 17.90 | 895.00 | 16.32 | 816.00 | 28.33 | 1,416.50 |
| 35 | File Folders - Kraft Reinforced - 2 Fasteners - Letter Sized - 1/3 Cut Tab Assorted - 50 per box | 10 | 10.89 | 108.90 | 22.50 | 225.00 | 17.07 | 170.70 | 14.31 | 143.10 |
| 36 | | 175 | 19.78 | 3,461.50 | 15.25 | 2,668.75 | 16.32 | 2,856.00 | 21.74 | 3,804.50 |
| 37 | File Folder (Pocket Folder) - Manila - End Tab - Straight Cut Tab - One Pocket - Letter Sized - No Expansion - 50 per box | 40 | 24.09 | 963.60 | 17.50 | 700.00 | 17.88 | 715.20 | 9.76 | 390.40 |

Office Supply, OEM Toners and Copy Paper RFP #17-615-002 Evaluation: Category I - Office Supplies

| | | | (A) Office Depot/OfficeMax Sacramento, CA | ot/OfficeMax ito, CA | (C) Burketts Sacramento, CA | cA | (D) Sierra Office Supplies Sacramento, CA | e Supplies to, CA | (E) Staples Sacramento, CA | oles to, CA |
|--------|--|----------|--|-------------------------|--------------------------------|-----------|--|----------------------|-------------------------------|----------------|
| Item # | Item # Description | Est. Oty | Bid Price | Extension | Bid Price Ex | Extension | Bid Price | Extension | Bid Price | Extension |
| 38 | File Folder - Classification - 25pt Pressboard - 6 Sections - 6 Fasteners - 2/5 Cut Tabs - Letter Sized - Red | 25 | 1.50 | 37.50 | 17.75 | 443.75 | 16.83 | 420.75 | 2.10 | 52.50 |
| 39 | Labels - File Folder - 3 7/16" × 2/3" - Clear - 30 Labels Per Sheet - 450 Labels Per Pack | 30 | 2.72 | 81.60 | 14.30 | 429.00 | 12.38 | 371.40 | 14.80 | 444.00 |
| 40 | Labels - Full Faced Matte for CDs - For Ink Jet Printers - White - 40 Labels and 80 Inserts Per Pack | 20 | 9.32 | 652.40 | 10.15 | 710.50 | 9.31 | 651.70 | 11.19 | 783.30 |
| 41 | Labels - Address - For Laser Printer - Smooth Feed Sheets - 1" x 2 5/8" - White - 3000 Labels Per Box | 4 | 7.59 | 30.36 | 6.20 | 24.80 | 8.15 | 32.60 | 7.56 | 30.24 |
| 42 | Labels - Easy Peel Laser Address, 1* x 2-5/8°, White, 30 Labels /sheet, 100 sheets/box (NEW ITEM) | 50 | 25.33 | 1,266.50 | 6.20 | 310.00 | 22.83 | 1,141.50 | 0.76 | 38.00 |
| 43 | Labes - Label Writer Address Labels - 1-1/6" x 3-1/2", White - 350 Labels Per Roll, 2 Rolls / pack (NEW ITEM) | 30 | 8.10 | 243.00 | 15.20 | 456.00 | 14.71 | 441.30 | 15.78 | 473.40 |
| 44 | Frame - Document/Certificate - Laminated Wood - 11" x 14" | 10 | 7.70 | 77.00 | 12.55 | 125.50 | 12.94 | 129.40 | 13.01 | 130.10 |
| 45 | Pad - Perforated Edge Writing Pad - LegalMargin Rufe - Canary - Letter Sized - 50 Sheets Per Pad - 12 Pads Per Pack | 335 | 6.40 | 2,144.00 | 7.60 | 2,546.00 | 6.10 | 2,043.50 | 9.44 | 3,162.40 |
| 46 | Pad - Steno Pad - Spiral Bound - Gregg Rule - 6" x 9" - Green - 80 Sheets Per Pad | 750 | 0.63 | 472.50 | 1.25 | 937.50 | 0.80 | 600.00 | 0.87 | 652.50 |
| 47 | Pad - Steno Pad - Spiral Bound - Gregg Rule - 6" x 9" - White - 80 Sheets Per Pad | 1555 | 0.87 | 1,352.85 | 1.25 | 1,943.75 | 0.80 | 1,244.00 | 0.74 | 1,150.70 |
| 48 | Seif Stick Notes - 1 ½" x 2" - Yellow - 100 Sheets Per Pad - 12 Pads Per Pack | 60 | 1.50 | 90.00 | 1.30 | 78.00 | 1.35 | 81.00 | 1.55 | 93.00 |
| 49 | Self Stick Notes - 3" × 3" - Yellow - 100 Sheets Per Pad - 12 Pads Per Pack | 230 | 5.64 | 1,297.20 | 2.30 | 529.00 | 2.55 | 586.50 | 3.47 | 796.95 |
| 20 | Tape - "Invisible" - ½" x 36 Yards - 1" Core, Clear - 6 Rolls Per Pack | 385 | 13.04 | 5,020.40 | 4.40 | 1,694.00 | 3.16 | 1,216.60 | 3.72 | 1,432.20 |
| 51 | Label Tape - For P-Touch Labeler - 3/8" width - Black on White | 25 | 10.51 | 262.75 | 9.95 | 248.75 | 8.78 | 219.50 | 9.84 | 246.00 |

Office Supply, OEM Toners and Copy Paper RFP #17-615-002 Evaluation: Category I - Office Supplies

| | | | (A) Office Dep | (A) Office Depot/OfficeMax | (C) Burketts | ketts | (D) Sierra Office Supplies | ce Supplies | (E) Staples | ples |
|--------|---|----------|----------------|----------------------------|----------------|-----------|----------------------------|-------------|----------------|-----------|
| | | | Sacrame | Sacramento, CA | Sacramento, CA | tto, CA | Sacramento, CA | nto, CA | Sacramento, CA | nto, CA |
| Item # | Item # Description | Est. Oty | Bid Price | Extension | Bid Price | Extension | Bid Price | Extension | Bid Price | Extension |
| | | | | | | | | | | |
| 23 | 52 Label Tape - For P-Touch Labeler - ½* width - Black on White | 260 | 11.53 | 2,997.80 | 19.90 | 5,174.00 | 9.52 | 2,475.20 | 10.77 | 2,800.20 |
| 8 | Tape Cartridge - Polyester Tape- For Dymo Pocket, Dymo 1000, 53 Dymo 2000, etc. Label Makers - 1/2" x 23' - Black on White | 318 | 12.72 | 4,044.96 | 10.65 | 3,386.70 | 9.31 | 2,960.58 | 10.11 | 3,214.98 |
| 25 | 54 Commessed Gas cluster non-flammable 10 oz. can | 75 | 292 | 425.25 | 2.50 | 187.50 | 4.22 | 316.50 | 3.13 | 234.75 |
| 5 1 | | 2 | | 0000 | | | 100 | 00.144 | 0.5 | 02.000 |
| 8 | 55 Frastener, Seir Adnesive, Z. Lapacity, Tuuroox | Dr. | 777 | 00.00 | 4.00 | NC:171 | 0.0 | 00.111 | 0.03 | 700.002 |
| | Subtotal: Category I Quotation Schedule | | | 45,935.79 | | 42,962.50 | | 34,644.09 | | 41,120.69 |
| | Less | | | | | | | | | |
| | Terms Discount | | 0.00% | 0.00 | 0.00% | 0.00 | 2.00% | (692.88) | 0.00% | 0.00 |
| | Local Vendor Preference | | 0.00% | 00.0 | 0.00% | 0.00 | 5.00% | (1,732.20) | 0.00% | 0.00 |
| | Total: Category I | | | 45.935.79 | | 42.962.50 | | 32.219.00 | | 41.120.69 |

Office Supply, OEM Toners and Copy Paper RFP #17-615-002 Evaluation: Category II - OEM Printer Supplies

| | | | (A) Office Depot | (C) Burketts | (D) Sterra Office Supplies | (E) Staples | s c |
|--------|---|----------|----------------------|----------------------|----------------------------|-------------------|-------------|
| Item # | Description | Est. Qty | Bid Price Extension | Bid Price Extension | Bid Price Extension | Bid Price Extensi | Extension |
| - | HP 27 Black Inkiet Print Cartridge (C8727AN) | 15 | \$19.99 \$299.85 | \$23.65 \$354.75 | \$19.11 \$286.65 | \$20.51 | \$307.65 |
| 2 | HP 64A Black Toner Print Cartridge (CC364A) | 150 | \$145.99 \$21,898.50 | \$155.00 \$23,250.00 | \$121.36 \$1 | \$139.79 | \$20,968.50 |
| ы | HP 96 Black Inkjet Print Cartridge (C8767WN) | 30 | i9 | | \$31.78 | \$34.57 | \$1,037.10 |
| 4 | HP 97 Tri-color Inkjet Print Cartridge (C9363WN) | 25 | | \$43.50 | \$34.33 | \$39.00 | \$975.00 |
| 5 | HP 45 Black Inkjet Print Cartridge (51645A) | 55 | S1 | \$41.00 \$ | \$30.79 \$ | \$36.86 | \$2,027.30 |
| 9 | HP BBXL Black OfficeJet Ink Cartridge (C9396AN) | 15 | | \$50.50 | \$36.26 | \$46.06 | \$690.90 |
| 2 | HP 645A Magenta Toner Cartridge (C9733A) | 20 | | \$385.00 | \$343.67 | \$344.95 | \$6,899.00 |
| 8 | HP 645A Cyan Toner Cartridge (C9731A) | 20 | | | \$343.67 | \$344.59 | \$6,891.80 |
| 6 | HP 645A Yellow Toner Cartridge (C9732A) | 20 | \$359.22 \$7,184.40 | | \$343.67 | \$344.59 | \$6,891.80 |
| 10 | HP 90A Black Laser Jet Toner Cartridge (CE390A) (NEW ITEM) | 30 | \$145.93 \$4,377.90 | \$156.00 | \$156.09 | | \$4,192.20 |
| 1 | HP 82X Black Toner Cartridge (C4182X) | 20 | \$223.18 \$4,463.60 | \$240.00 | \$214.13 | | \$4,403.20 |
| 12 | HP 645A Black Toner Cartridge (C9730A) | 20 | ¢) | \$ | \$247.63 \$ | \$245.96 | \$4,919.20 |
| 13 | HP 56 Black Inkjet Print Cartridge (C6656AN) | 15 | | \$28.00 | \$21.22 | | \$374.10 |
| 14 | HP 501A Black Toner Cartridge (Q6470A) | 10 | 69 | \$150.00 \$ | \$142.23 \$ | \$ | \$1,318.50 |
| 15 | HP 98 Black Inkjet Print Cartridge (C9364WN) | 25 | | \$28.00 | \$22.65 | \$24.94 | \$623.50 |
| 16 | HP 12A Black Toner Cartridge (Q2612A) | 45 | 69 | \$71.00 \$ | \$66.07 \$2 | \$63.29 | \$2,848.05 |
| 17 | HP 10 Black Ink Cartridge (C4844A) | 15 | | \$44.00 | \$32.95 | | \$575.55 |
| 18 | HP 11 Cyan Ink Cartridge (C4836A) | ო | \$37.95 \$113.85 | \$44.00 | \$30.95 | | \$115.11 |
| 19 | HP 11 Yellow Ink Cartridge (C4838A) | ო | \$37.95 \$113.85 | \$44.00 \$132.00 | \$30.95 | | \$115.11 |
| 20 | HP 11 Magenta Ink Cartridge (C4837A) | 4 | | \$44.00 | \$30.95 | | \$153.48 |
| 21 | HP 950 Black Ink Cartridge (CN049A) (NEW ITEM) | 25 | | \$25.00 | \$26.85 | | \$545.25 |
| 22 | HP 78 Tri-color Inkjet Print Cartridge (C6578DN) | 15 | | \$44.00 | \$33.87 | \$38.22 | \$573.30 |
| 23 | HP 57 Tri-color Inkjet Print Cartridge (C6657AN) | 15 | | \$44.00 | \$33.87 | \$39.77 | \$596.55 |
| 24 | HP 11 Black Printhead (C4810A) | 4 | \$40.31 \$161.24 | \$44.00 \$176.00 | \$33.47 | \$43.36 | \$173.44 |
| 25 | HP 11 Cyan Printhead (C4811A) | e | 63 | \$44.00 | \$33.47 | | \$129.99 |
| 26 | HP 11 Magenta Printhead (C4812A) | 2 | \$41.35 \$82.70 | \$44.00 | \$33.47 | | \$86.70 |
| 27 | HP 11 Yellow Printhead (C4813A) | 4 | \$41.35 \$165.40 | \$44.00 \$176.00 | \$33.47 | \$43.36 | \$173.44 |
| 28 | HP 122A Color LaserJet Q3961A Cyan Print Cartridge | 20 | \$100.93 \$2,018.60 | \$119.00 \$2,380.00 | \$96.80 | \$116.54 | \$2,330.80 |
| 29 | HP 122A Color LaserJet Q3963A Magenta Print Cartridge | 15 | \$101.79 \$1,526.85 | \$119.00 \$1,785.00 | \$1,452.00 | \$116.54 | \$1,748.10 |
| 30 | HP 122A Color LaserJet Q3962A Yellow Print Cartridge | 15 | \$102.38 \$1,535.70 | 63 | \$96.80 | | \$1,544.40 |
| 31 | HP 122A Color LaserJet Q3960A Black Print Cartridge | 25 | \$89.38 \$2,234.50 | \$92.00 | \$80.48 | | \$2,049.75 |
| 32 | HP 11A LaserJet Print Cartridge (Q6511A) | 10 | | \$137.00 | \$124.41 | | \$1,231.20 |
| 33 | HP 42A LaserJet Black Print Cartridge (Q5942A) | 48 | | \$166.00 | \$145.31 | \$148.08 | \$7,107.84 |
| 34 | HP 55A Black Original Laser Jet Toner Cartridge (CE255A) (NEW ITEM) | 25 | \$123.83 \$3,095.75 | \$132.00 | \$123.90 | \$118.62 | \$2,965.50 |
| 35 | HP 305A Black Original LaserJet Toner Cartridge (CE410A) (NEW ITEM) | 20 | | \$76.00 | \$81.64 \$ | | \$1,360.20 |
| 36 | HP 15A LaserJet Black Print Cartridge (C7115A) | 15 | \$72.65 \$1,089.75 | \$19.00 \$1 | \$63.23 | | \$1,045.80 |
| 37 | HP 951 Cyan Original Ink Cartridge (CN050AN) (NEW ITEM) | 25 | \$15.95 \$398.75 | \$18.00 \$450.00 | \$507.00 | \$16.13 | \$403.25 |
| 38 | HP 951 Magenta Original Print Cartridge (CN051AN) (NEW ITEM) | 25 | \$15.95 \$398.75 | \$21.00 \$525.00 | \$20.28 | \$16.13 | \$403.25 |
| 39 | HP 43X LaserJet Black Print Cartridge (C8543X) | 30 | \$259.76 \$7,792.80 | \$280.00 | \$224.44 | | \$7,466.70 |
| 40 | HP 96A Black Toner Cartridge (C4096A) | 20 | \$119.70 \$2,394.00 | \$140.00 | \$111.95 | -, | \$2,292.40 |
| 41 | HP 51A LaserJet Black Print Cartridge (Q7551A) | 20 | \$120.18 \$2,403.60 | \$280.00 | \$119.29 | | \$2,341.60 |
| 42 | HP 27X Black Toner Cartridge (C4127X) | 15 | \$145.32 \$2,179.80 | | \$142.88 | | \$2,412.15 |
| 43 | HP 124A Color LaserJet Q6000A Black Print Cartridge | 20 | | \$85.00 | \$76.07 | | \$1,502.40 |
| 44 | HP Color LaserJet Q3964A Imaging Drum | 20 | \$185.04 \$3,700.80 | \$236.00 | \$157.26 | *7 | \$3,397.80 |
| 45 | Brother Black Toner Cartridge TN430 | 25 | ŝ | \$57.00 | \$43.38 \$ | | \$1,272.75 |
| 46 | Brother Black Toner Cartridge TN350 | 20 | | \$59.00 | \$45.90 | | \$1,030.00 |
| 47 | HP 643A Cyan LaserJet Toner Cartridge (Q5951A) | 9 | \$261.80 \$2,618.00 | \$281.00 \$2,810.00 | 0 \$253.57 \$2,535.70 | \$252.22 | \$2,522.20 |

Office Supply, OEM Toners and Copy Paper RFP #17-615-002 Evaluation: Category II - OEM Printer Supplies

| | Printer Supplies |
|------------|------------------|
| | II - OEM F |
| | Category |
| 17-615-002 | valuation: |

| | | | (A) Offic | (A) Office Depot | (C) Burketts | ketts | (D) Sierra Office Supplies | ice Supplies | (E) Staples | les |
|--------|--|----------|-----------|------------------|-------------------|--------------|----------------------------|--------------|-------------------|--------------|
| Item # | Description | Est. Qty | Bid Price | ce Extension | Bid Price Extensi | Extension | Bid Price Extensio | Extension | Bid Price Extensi | Extension |
| 48 | HP 503A Cyan LaserJet Toner Cartridge (Q7581A) | 10 | \$176.29 | \$1,762.90 | \$189.00 | \$1,890.00 | \$175.99 | \$1,759.90 | \$170.36 | \$1,703.60 |
| 49 | HP 503A Yellow LaserJet Toner Cartridge (Q7582A) | 10 | \$176.34 | \$1,763.40 | \$189.00 | \$1,890.00 | \$175.99 | \$1,759.90 | \$171.16 | \$1,711.60 |
| 50 | HP642A Black LaserJet Toner Cartridge (CB400A) | 10 | \$166.99 | \$1,669.90 | \$181.00 | \$1,810.00 | \$150.96 | \$1,509.60 | \$160.62 | \$1,606.20 |
| 51 | HP CB401A Cyan LaserJet Toner Cartridge | 9 | \$248.90 | \$2,489.00 | \$269.00 | \$2,690.00 | \$234.39 | \$2,343.90 | \$253.32 | \$2,533.20 |
| 52 | HP CB403A Magenta LaserJet Toner Cartridge | 10 | \$249.37 | \$2,493.70 | \$269.00 | \$2,690.00 | \$234.39 | \$2,343.90 | \$253.32 | \$2,533.20 |
| 53 | HP 80A Black Original LaserJet Toner Cartridge (CF280A) (NEW ITEM) | 20 | \$86.91 | \$1,738.20 | \$94.00 | \$1,880.00 | \$86.67 | \$1,733.40 | \$83.24 | \$1,664.80 |
| 54 | HP 643A Yellow LaserJet Toner Cartridge (Q5952A) | 10 | \$261.77 | \$2,617.70 | \$281.00 | \$2,810.00 | \$253.57 | \$2,535.70 | \$252.74 | \$2,527.40 |
| 55 | HP 503A Magenta LaserJet Toner Cartridge (Q7583A) | 10 | \$176.20 | \$1,762.00 | \$189.00 | \$1,890.00 | \$175.99 | \$1,759.90 | \$170.74 | \$1,707.40 |
| 56 | HP 39A Black Toner Cartridge Model (Q1339A) | 9 | \$211.18 | \$2,111.80 | \$226.00 | \$2,260.00 | \$201.85 | \$2,018.50 | \$202.18 | \$2,021.80 |
| 57 | HP 05X High-Yield Black Toner Cartridge Model CE505X | ₽ | \$137.59 | \$1,375.90 | \$149.00 | \$1,490.00 | \$137.78 | \$1,377.80 | \$134.77 | \$1,347.70 |
| 58 | HP 504A Black Original LaserJet Toner Cartridges (CE250A) (NEW ITEM) | 25 | \$114.32 | \$2,858.00 | \$122.00 | \$3,050.00 | \$125.97 | \$3,149.25 | \$109.59 | \$2,739.75 |
| 59 | HP 701 Black Original Ink Cartridge (CC635A) (NEW ITEM) | 15 | \$33.65 | \$504.75 | \$39.00 | \$585.00 | \$34.77 | \$521.55 | \$34.52 | \$517.80 |
| 60 | HP 78A Black Original LaserJet Toner Cartridge (CE278A) (NEW ITEM) | 15 | \$63.91 | \$958.65 | \$72.00 | \$1,080.00 | \$66.49 | \$997.35 | \$63.66 | \$954.90 |
| 61 | HP 20 Black Ink Cartridge Model (C6614D) | 15 | \$55.84 | \$837.60 | \$62.00 | \$930.00 | \$58.05 | \$870.75 | \$55.60 | \$834.00 |
| 62 | HP 15 Black Original Ink Cartridge (C6615DN) (NEW ITEM) | 20 | \$33.96 | \$679.20 | \$39.00 | \$780.00 | \$33.98 | \$679.60 | \$34.83 | \$696.60 |
| 63 | HP 507A Black Original LaserJet Toner Cartridge (CE400A) (NEW ITEM) | 20 | \$125.81 | \$2,516.20 | \$135.00 | \$2,700.00 | \$144.64 | \$2,892.80 | \$120.48 | \$2,409.60 |
| | Subtotal: Category II Quotation Schedule | | | \$155,825.45 | | \$162,474.75 | | \$138,007.49 | | \$142,543.36 |
| | Subtotal Category II | | | \$155,825.45 | | \$162,474.75 | | \$138,007.49 | | \$142,543.36 |
| | Less: Terms Discount | | 0.00% | \$0.00 | %00.0 | \$0.00 | 2.00% | -\$2,760.15 | %00.0 | \$0.00 |
| | Local Vendor Preference | | %00.0 | \$0.00 | %00.0 | \$0.00 | 5.00% | -\$6,900.37 | %00.0 | \$0.00 |
| | Total: Category I | | | \$155,825.45 | | \$162,474.75 | | \$128,346.97 | | \$142,543.36 |

Office Supply, OEM Toners and Copy Paper RFP #17-615-002 Evaluation: Category III+ Paper

|)2 1: Category III- Paper |
|------------------------------|
|------------------------------|

| | Γ | | Ι | 25 | 3 | 8 | 3 | 2 | 3 | 2 | 3 | E | 3 | 55 | 3 | 8 | 8 | Г | 000 | 000 | 6 | 1 |
|--|---------|------------------|--|----------------------------|---|------------------------------|--|---------------------------|---|---------------------------------------|---|----------------------------|---|--------------|---|---|---|-------|----------------|-------------------------|-------------------|---|
| (E) Staples Sacramento, CA | | Extension | | 127 160 25 | | 37 800 00 | | 11 220 00 | | R 255 00 | | 1 378 DD | | 1 707 65 | | 816.00 | 186.336.90 | | | | 186,336.90 | |
| (E) S Sacram | | Bid Price | | 31.99 | | 42 00 | | 40 BU | | 41 70 | | 53 00 | 0.00 | 41.65 | | 4.08 | | | %00.0 | 0.00% | | |
| ce Supplies nto, CA | | Extension | | 109.113.75 | | 29.718.00 | | 9 119 00 | | 4 927 50 | | 1 138 2R | | 1.227.95 | | 874.80 | 156,119.28 | | (3.122.39) | (7.805.96) | 145,190.93 | |
| (D) Sierra Office Supplies Sacramento, CA | | Bid Price 1 | | 27.45 | | 33.02 | | 33.16 | | 32.85 | | 43.78 | | 29.95 | | 4.37 | | | 2.00% | 5.00% | | |
| ketts nto, CA | | Extension | | 130.181.25 | | 37.710.00 | | 10.450.00 | | 7.350.00 | | 1.690.00 | | 2.045.90 | | 1,380.00 | 190,807.15 | | 0.00 | 0.00 | 190,807.15 | |
| (C) Burketts Sacramento, CA | | Bid Price | | 32.75 | | 41.90 | | 38.00 | | 49.00 | | 65.00 | | 49.90 | | 6.90 | | | 0.00% | 0.00% | | |
| e Depot into, CA | | Extension | | 131,850.75 | | 32.670.00 | | 9.443.50 | | 5.397.00 | | 1.177.28 | | 1,537.50 | | 860.00 | 182,936.03 | | 0.00 | 0.00 | 182,936.03 | |
| (A) Office Depot Sacramento, CA | | Bid Price | | 33.17 | | 36.30 | | 34.34 | | 35.98 | | 45.28 | | 37.50 | | 4.30 | | | %0000 | 0.00% | | |
| | Unit of | Est. Qty Measure | | case | | case | | case | | case | | case | | case | | ream | | | | | | |
| | | Est. Qty | | 3975 | | 006 | | 275 | | 150 | | 26 | | 41 | | 200 | | | | | | |
| | | | Letter Size, 20 lb. Xerographic Paper (Grays Harbor #CH2650 or | equivelant) 10 reams /case | Letter size, 20 lb. Recycled Paper (Hammermill Great White #86700 | or equivalent) 10 reams/case | Letter size, 20 lb., 94+ Brightness (Paperone #20002746 or | equivalent) 10 reams/case | Letter size, 20 lb. 3 Hole Punched Paper (Grays Harbor Xerocopy | #CH2651 or equivalent), 10 reams/case | Legal size, 20 lb. Xerographic Paper (Grays Harbor #CH2652 or | equivalent), 10 reams/case | 11" x 17" 20 lb. Xerographic (Grays Harbor #CH2653 or equivalent) 5 | reams / case | Colored Copy Paper, Letter size, 20 lb. 500 sheets / ream, Blue | (Hammermill #SIESI811BLU or equivalent) 1 ream (NEW ITEM) | Subtotal: Category III Quotation Schedule | Less: | Terms Discount | Local Vendor Preference | Total: Category I | |
| | | Item # | | - | | 2 | | 3 | | 4 | | 2 | | 9 | | 2 | | | | | | |

Office Supply, OEM Toners and Copy Paper RFP #17-615-002 Evaluation: Summary of All Categories

4

| | (A) Office Depot Sacramento, CA | (C) Burketts Sacramento, CA | (D) Sierra Office Supplies Sacramento, CA | (E) Staples Sacramento, CA |
|--|------------------------------------|--------------------------------|--|-------------------------------|
| Category I - Office Supplies | \$45,935.79 | \$42,962.50 | \$34,644.09 | \$41,120.69 |
| Less: Terms Discount Local Vendor Preference | \$0.00 \$0.00 | \$0.00 \$0.00 | \$692.88 \$1,732.20 | \$0.00 \$0.00 |
| Total: Category I | \$45,935.79 | \$42,962.50 | \$32,219.00 | \$41,120.69 |
| Category II - Ink & Toner Cartridges | \$155,825.45 | \$162,474.75 | \$138,007.49 | \$142,543.36 |
| Less: Terms Discount Local Vendor Preference | \$0.00 \$0.00 | \$0.00 \$0.00 | \$2,760.15 \$6,900.37 | \$0.00 \$0.00 |
| Total: Category II | \$155,825.45 | \$162,474.75 | \$128,346.97 | \$142,543.36 |
| Category III - Paper | \$182,936.03 | \$190,807.15 | \$156,119.28 | \$186,336.90 |
| Less: Terms Discount Local Vendor Preference | \$0.00 \$0.00 | \$0.00 \$0.00 | \$2,760.15 \$6,900.37 | \$0.00 \$0.00 |
| Total: Category III | \$182,936.03 | \$190,807.15 | \$146,458.76 | \$186,336.90 |
| Gand Total | \$384,697.27 | \$396,244.40 | \$328,770.86 | \$370,000.95 |